
Quick Assembly Guide - BESV

PSF1

Quick Assembly Guide

BESV PSF1

V1.0, Oct. 2019



Quick Assembly Guide - BESV

PSF1

1

Contents
1. Introduction to the Spare Parts..............................................................................2

1.1 BESV PSF1.......................................................................................................................................2
1.2 Accessory package and spare parts................................................................................................... 2

2. Assembly Process............................................................................................................3

2.1 Install Your Front Wheel..................................................................................................... 3
2.2 Install the Seat Tube of the Cushion and Unfold the Bike...................................................5

2.3 Install the Pedals.................................................................................................................. 7
2.4 Install Battery.......................................................................................................................8
2.5 Install the Rear Reflector (Japanese Version)......................................................................9

2.6 Install the Reflector on Wheel (The colour varies by countries)....................................... 10
2.7 Install the Headlamp (Taiwanese/South Korean Version).................................................12
2.8 Install the Headlamp (Chinese Version)............................................................................ 13

2.9 Install the Rear Light and License Plate Rack (Chinese Version).....................................14
2.10 Install the Front Fender (selective assembly)...................................................................17
2.11 Install the Rear Fender (selective assembly)....................................................................20
2.12 Install the Rear Carrier (selective assembly)................................................................... 23

2.13 Install Rear Fender and Carrier (selective assembly)......................................................26

3. Check............................................................................................................................................. 30



Quick Assembly Guide - BESV

PSF1

2

Introduction to the Spare Parts

1.1 BESV PSF1

1.2 Accessory package and spare parts

The package contains the following spare parts：

1. Reflector on wheel*2

2. Rear reflector (including bracket) *1 [For the Japanese version only]

3. Charging adapter*1

4. Charging Cable*1

5. headlamp*1 [For the Taiwanese/Chinese/Korean version only]

6. components of headlamp (Headlamp locking screws, the washer and spring

washer)

7. Folding pedal*1

8. Rubber gasket on the front of the suspension *2

9. Transparent protection sticker for front fork *2

10. Guarantee card *1

11. Quick release for front wheel*1

12. Warranty card*1

13. Various User manuals

14. Warranty*1



Quick Assembly Guide - BESV

PSF1

3

2. Assembly Process

2.1 Install Your Front Wheel

2.1.1 Pull out your bike and the front wheel.

2.1.2 Insert the front wheel into the hook jaw of front fork.

The disk needs to be stuck in the center of calliper.



Quick Assembly Guide - BESV

PSF1

4

2.1.3 Install the quick release

Unscrew the nut of quick release

and install it from the left side of

the bike. The spring should be

smaller on the inner side and

larger on the outside.

Note: the handle of quick release is on the right side of bike

2.1.4 Screw the nut of quick release

Tighten the nut first, then loosen about 1/4 turn.

Press the handle of quick release upward and parallel it with front fork.

Rotate the front wheel, make sure the rotation is smooth and complete the

installation of front wheel.



Quick Assembly Guide - BESV

PSF1

5

2.2 Install the Seat Tube of the Cushion and Unfold the Bike

Take out the seat tube of the cushion from box and install it on the bike.

2.2.1 Unfold the vertical pipe

Unfold and put the vertical pipe upright, and fasten the safe lock.

2.2.2 Unfold the rear wheel

Open the pull pin outward, lift the bike and spread the rear wheel backward to make

sure the back suspension is buckled on the suspension pull pin.



Quick Assembly Guide - BESV

PSF1

6

Complete the assembly of bike.



Quick Assembly Guide - BESV

PSF1

7

2.3 Install the Pedals

2.3.1 Pull out the pedals from the accessory package.

2.3.2 Install the right pedal.

*Note: the ‘R’ on the axis of a pedal means it is

the right pedal. Rotate the pedal with R clockwise,

install it into the axle hole of the right crank and

lock it up.

2.3.3 Install the left pedal.

Rotate the other pedal counterclockwise, install it

into the axle hole of the left crank and lock it up.

Note: it needs to be rotated counterclockwise for

installation.

Complete pedals assembly.

R



Quick Assembly Guide - BESV

PSF1

8

2.4 Install battery

2.4.1 Turn the key to “OPEN”

2.4.2 Align the metal slot on the frame and push the battery to the end.

2.4.3 Press the key and turn it to

“OFF”. lock up the battery and

assemble it.



Quick Assembly Guide - BESV

PSF1

9

2.5 Install the Rear Reflector

(Japanese Version)

2.5.1

The spare parts of the reflector

Rear reflector*1

Reflector bracket*1

M5 screw*2

M5 nut *1

M5

nut *1

Rear

reflector

M5 Screw*2

Reflector

bracket

2.5.2 Fixate the reflector bracket onto the nut on left rear fork of the frame.

2.5.3 Place the reflector on the inside, and fixate the screw from the outside onto the

inside with the nut.

M5 screw *2



Quick Assembly Guide - BESV

PSF1

10

2.6 Install reflector on wheel

(The colour varies by country.)

2.6.1 The position of assembly: the left

side of the wheel. Opposite to the

air nozzle.

Choose a straight bar for

assembly.

2.6.2 Use one left and two

right spokes to jam the

reflector and push it to

the outside of the wheel

as much as possible.

2.6.3 Wrap the plastic screw,

tighten it and complete assembly.

2.6.4The same procedure applies to the rear wheel



Quick Assembly Guide - BESV

PSF1

11

2.6.5 Complete the reflectors on wheels part.



Quick Assembly Guide - BESV

PSF1

12

2.7 Install the Headlamp (Taiwanese/South Korean Version)

2.7.1 Position: M6 screw hole at the top of the front fork.

2.7.2 After headlamp is installed on the bracket, lock it into the keyhole of front fork

with M6 screw/washer/spring washer in the accessory package.



Quick Assembly Guide - BESV

PSF1

13

2.8 Install the Headlamp (Chinese Version)

No. Note

1 Headlamp

2 Headlamp locking

screws M6 12L

3 Headlamp flat

washer

4 Headlamp spring

washer

Insert the nut into the front fork according to the figure.



Quick Assembly Guide - BESV

PSF1

14

2.9 Install the Rear Light and License Plate Rack (Chinese Version)

No. Note

1 plastic frame of the licence

2 metal frame of the licence

3 rear light

2.9.1 Combine the metal with the plastic frame as shown in the

below pictures. Then, lock the two screws and gaskets with nut on the

back (do not drop the nut in the process).



Quick Assembly Guide - BESV

PSF1

15

2.9.2 Place rear lamp and the metal bracket hole in central

positions and lock.

The completed assembly is

shown in the above figure.

Stick the screws together but

do not lock them up for

installing sitting arch.



Quick Assembly Guide - BESV

PSF1

16

2.9.3 Insert the plastic bracket groove into seat bow. Adjust the

position towards the back and lock the screws. If there is not

enough, adjust the seat position.

2.9.4 Completion is shown as follows.



Quick Assembly Guide - BESV

PSF1

17

2.10 Install the front fender （selective assembly）

2.10.1 Remove the protection sticker off the left front fork.



Quick Assembly Guide - BESV

PSF1

18

2.10.2 Install the fender onto the fender (pay attention to direction of

installation). Please refer to the exploded-view drawing. The torsion

force of locking is 3Nm.

2.10.3 Install the hanger into the eyelet behind the front fork. The orders of

spare parts are shown in the exploded-view drawing. The torsion force of locking

is 3Nm (do not lock up the screw. Just insert it).



Quick Assembly Guide - BESV

PSF1

19

2.10.4 Install the left and right fenders in the inner side of front wishbone.

The orders of spare parts are shown in the exploded-view drawing. The torsion

force of locking is 5Nm (do not lock up the screw. Just insert it).

2.10.5 Adjust the fender properly, lock the screw up with torsion, wrap the

protection pack on the front fork and complete the assembly of front fender.



Quick Assembly Guide - BESV

PSF1

20

2.11 Install the rear fender （selective assembly）

2.11.1 Install the front and rear wheels onto the fender (mind the directions

of installing, as is shown in the following). The orders of spare parts are

shown in the exploded-view drawing. The torsion force of locking is 3Nm.



Quick Assembly Guide - BESV

PSF1

21

2.11.2 Install the hanger of front fender into the M5 eyelet under the rear fork.

The orders of spare parts are shown in the exploded-view drawing. The

torsion force of locking is 5Nm (do not lock up the screw. Just insert it).

2.11.3 Install the fender onto the left and right attachment near the rear fork.

The orders of spare parts are shown in the exploded-view drawing. The

torsion force of locking is 5Nm (do not lock up the screw. Just insert it)



Quick Assembly Guide - BESV

PSF1

22

2.11.4 Properly adjust the fender, lock the screw up with torsion, and complete

the assembly, as is shown in the following figure.



Quick Assembly Guide - BESV

PSF1

23

2.12 Install the rear carrier (selective assembly)

2.12.1 Remove the foldable bracket off (Properly keep the removed bracket. If the carrier is

not installed, the bracket should be assembled for folding and standing).



Quick Assembly Guide - BESV

PSF1

24

2.12.2 The four wheels of the carrier, spare parts and detailed components are

shown in the exploded-view drawing.

*The force of screw locking torque is 3Nm

2.12.1 Front and rear screws on the left of lock, spare parts and detailed

components are shown in the exploded-view drawing.

washers should be added inside the racketWashers should be added inside the racket



Quick Assembly Guide - BESV

PSF1

25

2.12.2 Front and rear screws on the left of lock, spare parts and detailed

description of components are shown in the exploded-view drawing

2.12.3 Lock the four screws with 5Nm of torque force to complete the

assembly of carrier.

Washers should be added inside the racket



Quick Assembly Guide - BESV

PSF1

26

2.13 Install rear fender and rear carrier (selective assembly)

2.13.1 Install the rear fender (note the direction of installation in the following figure),

original wheels, front fixed orifices, screws and nuts and orders of other spare parts are

shown in the exploded-view drawing. The force of torque is 3Nm.



Quick Assembly Guide - BESV

PSF1

27

2.13.2 Install the hanger of front fender into the M5 eyelet under the rear

fork. The orders of spare parts are shown in the exploded-view drawing. The

torsion force of locking is 5Nm (do not lock up the screw. Just insert it)

2.13.3 Lock the left and right front bracket of the carrier onto the lower fork.

The orders of spare parts are shown in the exploded-view drawing. The torsion

force of locking is 5Nm (do not lock up the screw. Just insert it).



Quick Assembly Guide - BESV

PSF1

28

2.13.4 Install the left, right and back bracket of the carrier and fender onto

the lower fork. The orders of spare parts are shown in the exploded-view

drawing. The torsion force of locking is 5Nm (do not lock up the screw. Just

insert it)

2.13.5 The rear fender and carrier are assembled and the fender is finely

adjusted, shown in the following figure. The device is tightly screwed with torsion

force to complete the assembly process.



Quick Assembly Guide - BESV

PSF1

29

3 Check

3.1 Check whether the tire pressure is normal.

3.2 Check whether the brake, transmission and chain work smoothly

3.3 Activate electric control to check whether the functions and power are normal. Refer to the

PSF1 User Manual.

3.4 Check whether the function of folding is normal or not. Refer to the user manual for specific

procedures of holding.

BESV PSF1 assembly accomplished.


	Introduction to the Spare Parts
	1.1BESV PSF1
	1.2Accessory package and spare parts
	2.Assembly Process
	2.1Install Your Front Wheel
	2.2Install the Seat Tube of the Cushion and Unfold th
	2.3Install the Pedals
	2.4Install battery
	2.5Install the Rear Reflector 
	(Japanese Version)
	2.6Install reflector on wheel 
	(The colour varies by country.)
	2.7Install the Headlamp (Taiwanese/South Korean Versi
	2.8Install the Headlamp (Chinese Version)
	3Check

